(D172 @BD  10000000000000000000 Fange #ode Lnear Gides vith Bl Retaer o ey e

0J1330LGHR-FOOOOOO0O

gooooo goooo ooobooOoooooonoo ooooo
H H | T, | W L w ) L, F |[Mx¢,| S T h P G
LGHR15F 24 | 46 |16 47 | 55 38 30 39 [ 194 | M5x7 | M4 | 15 | 15 | 60 | 20
LGHR20F 30 | 5 215 | 63 | 69.8| 53 40 50 | 25 M6x 10 | M5 | 20 | 18 | 60 | 20
LGHR25F 36 |7 235 | 70 | 79 57 45 58 |29 M8x 10 | M6 | 23 | 22 | 60 | 20
LGHR30F 42 19 31 90 | 98.6| 72 52 72 | 33 |M10x 12| M8 | 28 | 26 | 80 | 20
LGHR35F 48 | 95 |33 100 |109 82 62 80 | 385 |M10x 13| M8 | 34 | 29 | 80 | 20

013400000000

oooooo ooooooooao
100 500 1000 1500 2000

160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

LGHR15F ——t—
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

LGHR20F "ttt
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900

220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900

LGHR25F — "ttt
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960

280 440 600 760 920 1080 1240 1400 1560 1720 1880

LGHR30F —ttt—t———+—t—+—F——F—t+—F—t—F—+——+—
360 520 680 840 1000 1160 1320 1480 1640 1800 1960

280 440 600 760 920 1080 1240 1400 1560 1720 1880

LGHR35F —ttt—t—t—F——F——t——t——t—f—t———
360 520 680 840 1000 1160 1320 1480 1640 1800 1960

0000 | LGHR25F OCG 02 x1300
ooo 00000 (L)
oooooooooooooooo

200

[T BETY—R
CG )= F—R

VG HEJJ—R
HG =Ry =R
FG BRIIJ—R

KT —ZDIERPLOS R



LGHR-F series eeq® 0122

N L
Li
2
——
oH[ofT: o
,,,,,,, | | —— ==
| E— U V4 ===
) L
I
I
nXxP (@
Lomax
Mx My Mz
e N S
BAfSL : mm
ooooo pooooooooo|oooooo ooooooooo ooooo|ooo
C C, Mx My M, oo oo
Dx dx f Lo | OO0 ts N [DkNODKNOQOKNOmO[D kNOImO[D kNOmO| OkgO [0 kg/mO
7.5x 45%x 53| 2000 03 45 33| 11.6 17.5 0.10 0.09 0.08 0.17 1.6
95x 6 x 85| 3960 | Mex 0.75 | 5 11 19.1 29.7 0.21 0.19 0.18 0.45 2.6
11 x7 x 9 3960 | M6x 0.75 | 6 11 27.5 395 0.31 0.30 0.28 0.63 3.6
14 x9 x 12 4000 | M6x 0.75 | 7 11 39.9 58.2 0.60 0.55 0.51 1.20 5.2
14 x9 x12 4000 | M6x 0.75 | 8 11 52.0 76.0 0.93 0.79 0.74 1.70 7.2
BT :mm
ooooooooo ooo
2590 3090 3590 40‘00 gooo
2000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880
—t—ttttt+—t—t+—+—+—+—t+—+—+—+—+—+—+—+—+—+—+—+—F+—+—+—F+—F+—++ 3960
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
%OZQ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 3190 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40
3960
‘ 2680 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28b0 ‘ 29‘20 ‘ 30‘40 ‘ 31‘60 ‘ 32‘80 ‘ 34b0 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
S B o e S e e e e e e e B e e e U e S m | 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880
20‘40 ‘ 22‘00 ‘ 23‘60 ‘ 25‘20 ‘ 26‘80 ‘ 28‘40 ‘ 3090 ‘ 31‘60 ‘ 33‘20 ‘ 34‘80 ‘ 36‘40 ‘ 3890 ‘ 39‘60
4000
‘ 21‘20 ‘ 22‘80 ‘ 24‘40 ‘ 26‘00 ‘ 27‘60 ‘ 29‘20 ‘ 3680 ‘ 32‘40 ‘ 34b0 ‘ 35‘60 ‘ 37‘20 ‘ 38‘80 ‘

201





